Greek 1A
Lessons 13-14

Aorist tense

Active
1 €Avoa ~OEY
2 -0.C -0TE
3 -€(v) -0

Mid.
Eruoouny

(V)

-0TO

-0LeOoc
-0.00€
-avTo

AaronP

v' Aor. act. inf. is ADoat; aor. mid. inf. A0oac6eL. The augment drops out in all the
moods other than the indicative mood. Remember that aorist passive is formed from
the sixth principal part (aor. pass. inf. AvBfjvat).

2" aorist

v The forms (endings) of the second aorist are identical with those of the imperfect.
Aorist infinitives of Aaufavw? Aefeiv and rofécbor (note the irregular accents in
both forms; see Mark 9:11; 1:17).

funy

Active
1 €Alvov -OlLEV
2 -€C -€TE
3 -€(v) -ov
Active
1 ,E')\.OLBOV -OjLeV
2 -cC -€TE
3 -€(v) -ov
The Verb eipi
Present
1 elpl EOpéV
2 el €0Té ne
3 coti(v)  elol(v) nv
Common verbs for the next quiz.
€pyouaL EAeVoopaL AABov
yilvopel YEVTIOOMOL Eyevouny
Ao Anuropoct Erfov
€ofiw daryopat €daryov
YLVWOK® YVOOOUL Eyvwy
Pépw olow freyko
Ayw aEw fyoyov
0paw OYopaL eldov
AEyw PR elmov
aKoVw akovoouat/  fikouow
amodviokw  amobavodual  &mEBavoV

Mid./Pass
EAoUNY  -bebo

-ou -€00e

€70 -0VT0

Mid./Pass

EraPopny  -bebo
-0v -€00¢
-€T0 -0VT0
Imperfect

e €oopoL
It o
noow €otoL
EAMAvOn
véyova yeYEUILOL
€lAndo €LANUpOL
edndoka edndeopat
€YVWKa €YvwopaL
evnroye EvnreYIaL
fixe My
EDPAKLL QoL
€lpnka €lpnuot
GKNKO TiKovoaL
TEOUMKQ

Future

b ’
€oopedo
b4

€oeabe
€éoovtol

[evernbny]
EMpdony

NoéadNY
Eyvwobny
YéxoMY

ey
oMV

EppeomuléppriOny

NKoLGONY
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